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Answer the following (Multi choice Quesuons)

(1)

(i1)

(i11)

(v)

Distance between two consecutive tallies in a 20 meter metric chain is
(a) 1 meter (b) 2 meter

(¢) 3 meter & ok (d). 5 meter

The nature of error arising due to non-horizontality of chain is

(a) Cumulative, + (b) Compensating, =

(¢) Cumulative, — (d) Cumulative, +

The length of a line measured with a 20 meter chain was found to be
250 meter. The true length of the line if the chain was 10 cm too long

(a) 251m (b) 251.25m
(¢) 250.75m (d) 251.50 m

200° in Whole Circle Bearing, if is converted to Quadrantal bearing system
becomes

(a) S 20°W (b) W 70°S
(¢) N20°E (d) E20°N
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(v) Which one of the following 18 a method adopted for locating pane table

stations?
(a) Radiation (b) Intersection
(¢) Resection (d) Leveling

(vi) A level was set up at a point A and distance to the staff station B was
1000 m. The net combined correction due to curvature and refraction is

(a) -0.0673 m (b) -0.00673 m

(¢) 0.0673m (d 0.00673 m o
(vii) If bearing of AB=40°, bearing of BC=120°, then ZABC= N

(@ a0° ®) 60° 5

(c) 100and0

(x) A circular curve has a 200m radius and 60° deflection angle The tangent
length of the curve 18 ‘

(a) 34641 m (b) 146.41m
(¢) 11547 m (d) 31547 m

2. (a) Illustrate the method of intersection in plane table surveying with a neat
diagram only, (3)

(b) The following perpendicular offsets were taken from a chain line to a lmdge
Chainage (m) O 10 20 30 40 B0 60 70 80

Off sets (m) 3.25 5.60 4.20 6.65 8.75 6.20 3.25 4.20 5.65

Calculate the area between the survey line, the hedge and the offsets by
Simpson's 1/3' rule. (5)

(¢) How would you measure the length between two points A and B separated
by a pond? It is not possible to go to point B (although it is visible) and the
instruments you have are Chain/Tape. Ranging rods, cross staff and arrows,
illustrate with relevant figure and geometry. (4)

(d) A 20-meter chain was found to be 20.10 m at the beginning and 20.30 m at
the end of the work. The area of the plan drawn to a scale of 1 cm = 8m was
measured with the help of a planimeter and was found to be 32.56 sq. cm.
Find the true area of the field. (3)
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3. (a) The magnetic bearing of a line AB is S25°30°E. Calculate the true bearing if
the declination 1s 7°30° West. (3)

(h) The following bearings were observed while traversing with a compass
Line Fore Bearing Back bearing  Line Fore Bearing Back bearing
AB 45°45° 226°10° CD 29°45° 209°10°
BC 96°55° 277°5° DE 324°48’ 144°48'
Mention which stations are affected by local attraction and determine the
corrected bearings. (6)

(o) A railway embankment 1s 10 m wide with side slopes 1.5 to 1. Assuming the
gumdm behvel in a direction tranavem to the centre line, calculate the
tained in a length of 120 metres --ghe m eights at 20 m

temperature at the time of 1
16 kg. Weight of 1 cubic cm of steel is 7.

E = 2109 x 10" kglem? Co-efficient of expansion éftapeper I‘Fm.-ewm-.;
®
(b) Explain the characteristics of contour with suitable neat sketch. (5)

(¢) What are the different methods of contouring? Describe any one of them. (4)

5. (a) Explain the effect of curvature and refraction in Levelling. (3)
(b) The staff readings for a survey work were as follows:

1.810,2.110, 1.225, 1.455, 0.905, 2.435, 2.810, 2.675 and 1.765. The level was
shifted after 4% and 7T readings. Work out the R.L. of all the stations, if

R.L. of first station 1s 50.000m. (6)
(¢) The following details refer to reciprocal level taken with a level. (6)
Instrument at  Staff Readings on Remarks e AR
A B et ~r vV ‘“\d'f b s“"a)
: \ ﬂl"
A 1.415 2.875 Distance between A & B= 1150 m
B 0.670 1.995 R.Lof B=250.000 M

Find R.L. of station A and collimation error if any.
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6. (a) Explain how you would measure horizontal angle by repetition method with
a theodolite. 4)
(b) Explain short notes on :

(1) 'I‘ransitihg a\N’“ﬂWNUUUIT{ ﬂ» \ o Lleni
., Ll IMT & WPS
(i) Swinging the telescope A ;;am - if?;a;a.
(iil) Balancing a traverse. S el (4)

(© The following table gives the latitudes and departures of the sides of a

closed traverse ABCD.
Side Latitude in meters Departure in meters
E N s E W

(b) A was held vertically at honzontal distance af 50m sznd IWM ﬁ'omf’lﬁﬁé

center of a theodolite fitted with stadia hairs and the staff intercepts with
the telescope horizontal were 0.550m and 1.855m respectively. The
instrument was then set over P of RL. 250.500m and height of instrument
was 1.580m. The hair reading on the staff held vertically at station Q were
1.205, 1.940 and 2,675m, while the vertical angle was 10°30/. Find the
distance PQ and the R.L. of Q. (9)
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